Science 10
Chapter Nine: Distance and Speed

Part I: Significant Digits

Name: JE¥ . /65

State the number of significant digits for each of the following. [6]

a. 4500 cm a d.
b. 103.010 km (Q e.
c. 0.0041950 s 5 ;3

1.879 x 10-3s

Y
950.0 km Y
cad’

51.002 h

2. Complete the following calculations by providing the correctly rounded answer with

the correct significant digits and units

b. 0.012m + 12.28m + S5.75m =

c. 19.38h - 8.7h =

TRUE ANSWER
a. 43.5mm x 1.245 mm x 15.0 mm= ), 33

18.042
10.68

[4]
FINAL ANSWER

8.3 mm
8.04 m
10.7 h

d. 110 km = 47.83( 48 Km /h
2.3 h
Part 2 : Definitions - Complete the following sentence. [2]

a. Accuracy depends on
b. Precision depends on

user 118

e

c. The slope of a line on a distance-time graph gives the 5Q€€d :
- The average speed is equal to the instantaneous speed Constant ;

Part 3: Factor label method

(8]

Convert the following quantities into the units stated. Round your answer to the correct
number of significant digits. (You must show all work in order to obtain full value)

a. 66m/stokm/h

Lor x |Km x 34004
5 1000 prf h

2 237.6 Km/h
Q4O Km /h
b. 851.2 min into days
831, dmia x _L_ days
440 P

= 0.59/) dqjs

Part 4: Rearranging Equations

2.54 m into em

2.5 X 100em - 95y
| A

111 km/h into m/s

1% 1000m X A

Rearrange the following equations for the desired variable

&  A=Twh; solve for h =
Tw ek
h= A

lw
“l. D = 3a - 2b; solve for b

D-3a=3d-24-2}
.0—30\: '2?__12. ~y b= D-2q
- 2 - '_5‘

C.f)(P = W

Ped _km 36005
= 30.8m /5
[4]
olve for t
W=BE 2 W
7 P
d. Vx=_A_hx;3301ve for A=
3
AV= AW

—_— = 3Y
h W AT



Part 5: Distance, Speed and Time
(For this section you must show all your work in order to obtain Sull value)

1. In 1979, Bryan Allen pedaled the Gossamer Albatross aircraft 36.8 km across the
English Channel in a time of 174 minutes (convert to hours).

e. Calculate the average speed of the aircraft in km/h. (4]
V= » "
D= 36.8km V=3 26.8km X Omin - 12.7km / h
T= 174 min + | 74 min h

Hhe average 3Speed s 12, 7km/h.
f. Assuming that he maintained this same average speed, what total distance
could he cover in 4.93 hours? (4]

V:Q,‘}Km/k D= Vxt 1. 7km/h X 4.93 K =636 Km

- 4.93h
total distance (A ( Km.

2. At the equator the earth spins a distance of 41830.07 km every day. What speed
does the earth spin at in kilometers per hour? (4]
V=

o ;’f&‘)-mkm 41830.07km = 1792.93 km/
| V:i AUh

The ear+h sping 1742.93 Km [h,

3. A) Stan has two alternate means if getting to work: taking the bus, or taking the
train. Each mode of transportation follows a slightly different route from Stan’s
house to his workplace. The bus travels a distance of 40 km at an average speed
of 80km/h, and the train travels 33 km at an average speed of 78 km /h.

Calculate the time each takes in minutes. 8]
Bus Train
V= 80Km/h +=£‘V'- = H0km V= 78k h +=d = 33km
D= YO Kkm o Kby D= 33 Km v 78kmlh
= FU.8h =30min: 5

=il Y mi
QKX(OO .. = QS.Qmin.

b) Which one is the faster means of transportation & by how many minutes? (2)

The +rain js {Loster by 5 minutes

4. Kelly drove 11.5 hours per day for 7.4 days in order to get back home for spring break. Her

average speed was 88 km/h. How far did she travel? [4]
T SR d=Vxt  85.)km x 88km /h
T=”.SHX7.‘-)0\035: 85.1h s 7‘/88‘8Km

5. Tori was told dinner would be ready at 5:45. She left her house at 1:00 pm and
travelled in her car at an average speed of 97 km/h to her parents house 548 km away.

Does Tori make it home in time for dinner? (4]
V=q7k f=d = § 5 .
D=§Ze;rz:n/k Y ——L,‘8— = .65 h No tori will not

dinner.



Part 6: Distance- time Graphs [9]
1.A person begins to jog down the street. The data has been recorded in the table below

Time (s) Distance (m)
0.0 0.0
6.0 20.0
12.0 40.0
16.0 60.0
21.0 80.0
28.0 100.0
a. Graph the above data onto the graph paper below. Be sure to label each axis
along with units and give vour graph a title. [4]
T aige
Cc O [
o
O | E

CRSAZEN }P
L

0¥

O 5 W 15 20 35 % ime
b. Draw the line of best fit on the graph (1]
c. Using the graph, predict the Jjoggers’ time to reach 120m . [1]

about 33 Seconds
d. Using the graph, calculate the speed of the jogger. (3]

sz\i: 100m _3.61’?7/5

A pse Approxima+l ey

2.Tell me what is happening in this graph, according to speed and time. At the end tell me
if this is a realistic graph( p- £ [2]

A-B, Constant speed
6-C  Distance 4ravel hgs 57lo,a'aed

i C-B Constant Speed
e DB Disdance creases , but #ime
Ezsn I"’OS 5+OPPed‘ ( - ‘ )
gzuo 7 ‘D ,mPOSSI b}e,)
;2 150 5. ...................... C.

Time (h)



